Pay Item	Description	Qty	Unit	Unit Price	Total Price
150-1001	Traffic Control	1	LS	96000.00	96,000.00
215-0250	Undercut Excavation and Disposal of Materials (As directed by City Engineer)	25	SY	211.00	5,275.00
310-1101	Graded Aggregate Baseincluding material (As directed by City Engineer)	25	TN	2 67.∞	6,675.00
432-0212	Mill Asphalt Concrete Pavement, 1.5 in. Depth	170,000	SY	5.16	979,200.00
402-1802	Recycled Asphalt Concrete Patching using 19 MM Superpave including Bituminous Material & H Lime	1,900	TN	399.65	759,240.00
402-3103	Recycled Asphalt Concrete 9.5 MM Superpave Type II, GP 2 Only, including Bituminous Material and H-Lime	13,600	TN	154.80	2,105,280.60
413-1000	Bitum Tack Coat	6,600	GL	4:75	31, 350.00
611-8050	Adjust Manhole to Grade	8	EA	908.00	7,264.00
611-8140	Adjust Utility Valve to Grade	8	EA	792.00	6,336.00
653-0110	Thermoplastic PVMT Marking, Arrow TYPE 1	2	EA	150.00	300.00
653-0120	Thermoplastic PVMT Marking, Arrow TYPE 2	2	EA	150.00	300.00
653-1501	Thermoplastic Solid Traffic Stripe, 5 IN White	250	LF	2.50	625.00
653-1502	Thermoplastic Solid Traffic Stripe, 5 IN Yellow	250	LF	2.50	625.00
653-1704	Thermoplastic Solid Traffic Stripe, 24 in., White	25	LF	15.00	375.00
653-1804	Thermoplastic Solid Traffic Stripe, 8 in., White	80	LF	5.00	400.00
653-3501	Thermoplastic Skip Traffic Stripe, 5 IN White	75	GLF	1.50	112,50
653-3502	Thermoplastic Skip Traffic Stripe, 5 IN Yellow	75	GLF	1.50	112.50
	2022 Paving Bid - Package 2 1	Total	Bid	Price	3,999, 470.00

Include complete bid schedule with your bid

Invoices will be approved and paid based on measured actual quantities and performed work. Actual quantity may vary from the bid quantities.

Traffic control includes 19 signs at subdivision entrances, no temporary striping or tapes required for residential streets.

40

Pay Item	Description	Qty	Unit	Unit Price	Total Price
150-1001	Traffic Control	1	LS	81296.00	81,296.00
215-0250	Undercut Excavation and Disposal of Materials (As directed by City Engineer)	25	SY	211.00	S,ans.oo
310-1101	Graded Aggregate Baseincluding material (As directed by City Engineer)	25	TN	267.00	6.675.00
432-0212	Mill Asphalt Concrete Pavement, 1.5 in. Depth	110,000	SY	5.35	288,500.00
402-1802	Recycled Asphalt Concrete Patching using 19 MM Superpave including Bituminous Material & H Lime	1,260	TN	399.60	503,496.00
402-3103	Recycled Asphalt Concrete 9.5 MM Superpave Type II, GP 2 Only, including Bituminous Material and H-Lime	9,000	TN	154.65	.391,8∞.∞
413-1000	Bitum Tack Coat	4,500	GL	4.75	21,375.00
611-8050	Adjust Manhole to Grade	8	EA	908.00	7,264.00
611-8140	Adjust Utility Valve to Grade	8	EA	792.00	6,336.00
653-0110	Thermoplastic PVMT Marking, Arrow TYPE 1	2	EA	150.00	300.00
653-0120	Thermoplastic PVMT Marking, Arrow TYPE 2	2	EA	150.00	300.00
653-1501	Thermoplastic Solid Traffic Stripe, 5 IN White	250	LF	2.50	625,00
653-1502	Thermoplastic Solid Traffic Stripe, 5 IN Yellow	250	LF	2.50	625.80
653-1704	Thermoplastic Solid Traffic Stripe, 24 in., White	25	LF	15.00	375.00
653-1804	Thermoplastic Solid Traffic Stripe, 8 in., White	80	LF	5.00	400.00
653-3501	Thermoplastic Skip Traffic Stripe, 5 IN White	75	GLF	1.50	112.50
653-3502	Thermoplastic Skip Traffic Stripe, 5 IN Yellow	75	GLF	1.50	112.50
	5				
	in the second se				
	2022 Paving Bid - Package 2	Total	Bid	Price	2,614,917.00

Include complete bid schedule with your bid

Invoices will be approved and paid based on measured actual quantities and performed work. Actual quantity may vary from the bid quantities.

Traffic control includes 8 signs at subdivision entrances, no temporary striping or tapes required for residential streets.

Pay Item	Description	Qty	Unit	Unit Price	Total Price
150-1001	Traffic Control	. 1	LS	102,000,00	102,000.00
215-0250	Undercut Excavation and Disposal of Materials (As directed by City Engineer)	25	SY	211.00	5,275.00
310-1101	Graded Aggregate Baseincluding material (As directed by City Engineer)	25	TN	261.00	
432-0212	Mill Asphalt Concrete Pavement, 1.5 in. Depth	120,000	SY	5.94	112,800.00
402-1802	Recycled Asphalt Concrete Patching using 19 MM Superpave including Bituminous Material & H Lime	1,400	TN	399.60	559,440.00
402-3103	Recycled Asphalt Concrete 9.5 MM Superpave Type II, GP 2 Only, including Bituminous Material and H-Lime	9,900	TN	159.65	1,569 735.00
413-1000	Bitum Tack Coat	5,500	GL	4.75	26,125,00
611-8050	Adjust Manhole to Grade	8	EA	908.00	7,264.00
611-8140	Adjust Utility Valve to Grade	8	EA	79200	6,336.00
653-0110	Thermoplastic PVMT Marking, Arrow TYPE 1	2	EA	150.00	300.00
653-0120	Thermoplastic PVMT Marking, Arrow TYPE 2	2	EA	150.00	300.00
653-1501	Thermoplastic Solid Traffic Stripe, 5 IN White	250	LF	2.50	625.00
653-1502	Thermoplastic Solid Traffic Stripe, 5 IN Yellow	250	LF	2.50	625.00
653-1704	Thermoplastic Solid Traffic Stripe, 24 in., White	25	LF	15.00	315.00
653-1804	Thermoplastic Solid Traffic Stripe, 8 in., White	80	LF	5.00	400.00
653-3501	Thermoplastic Skip Traffic Stripe, 5 IN White	75	GLF	1.50	1/2.50
653-3502	Thermoplastic Skip Traffic Stripe, 5 IN Yellow	75	GLF	1.50	112.50
				9	
:					
	2022 Paving Bid - Package 3	Total	Bid	Price	2,989,50

Include complete bid schedule with your bid

Invoices will be approved and paid based on measured actual quantities and performed work. Actual quantity may vary from the bid quantities.

Traffic control includes 22 signs at subdivision entrances, no temporary striping or tapes required for residential streets.

111 A2

Pay Item	Description	Qty	Unit	Unit Price	Total Price
150-1001	Traffic Control	1	LS	81,000.00	81,000.00
215-0250	Undercut Excavation and Disposal of Materials (As directed by City Engineer)	25	SY	2/1.00	5,215.00
310-1101	Graded Aggregate Baseincluding material (As directed by City Engineer)	25	TN	261.00	6,675.00
432-0212	Mill Asphalt Concrete Pavement, 1.5 in. Depth	90,000	SY	6.82	613800.00
402-1802	Recycled Asphalt Concrete Patching using 19 MM Superpave including Bituminous Material & H Lime	1,100	TN	399.65	439.615.00
402-3103	Recycled Asphalt Concrete 9.5 MM Superpave Type II, GP 2 Only, including Bituminous Material and H-Lime	7,200	TN	166.45	1, 198, 440.00
413-1000	Bitum Tack Coat	3,900	GL	4.15	18,525.00
611-8050	Adjust Manhole to Grade	8	EA	908.00	7, 264.00
611-8140	Adjust Utility Valve to Grade	8	EA	792.00	6,336.00
653-0110	Thermoplastic PVMT Marking, Arrow TYPE 1	2	EA	150.00	300.00
653-0120	Thermoplastic PVMT Marking, Arrow TYPE 2	2	EA	150.00	300.00
653-1501	Thermoplastic Solid Traffic Stripe, 5 IN White	250	LF	2,50	625.00
653-1502	Thermoplastic Solid Traffic Stripe, 5 IN Yellow	250	LF	2.50	625.00
653-1704	Thermoplastic Solid Traffic Stripe, 24 in., White	25	LF	15.00	315.00
653-1804	Thermoplastic Solid Traffic Stripe, 8 in., White	80	LF	5.00	400.00
653-3501	Thermoplastic Skip Traffic Stripe, 5 IN White	75	GLF	1.50	112.50
653-3502	Thermoplastic Skip Traffic Stripe, 5 IN Yellow	75	GLF	1.50	11250
					,
	2022 Paving Bid - Package 4	Total	Bid	Price	2,379,780.0

Include complete bid schedule with your bid

Invoices will be approved and paid based on measured actual quantities and performed work.

Actual quantity may vary from the bid quantities. Traffic control includes 13 signs at subdivision entrances, no temporary striping or tapes required for residential streets.

111 A 13